Simplificar Expresiones (C)

Simplifique cada expresion.

.6x2-(—x2)-4x2-x2 6. —1-9.7a> —10a

30y* 913
7y2_ _3y2_y 7. —6V- (—T) (—3)
y3
=Ty (D) 4+ §. —1+1—c*—1
y
.—14+7a-(—1)+6a 9. 1+1+5x+x
.Y+ y+6+3y 10. —4c-c-9c-c
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Simplificar Expresiones (C) Respuestas

Simplifique cada expresion.

.6x2-(—x2)-4x2-x2 6. —1-9.7a> —10a
— 48 = —63a> — 10a
30y* 93
7y? — — 7. —6 — -3
YT Y ’ ( v ) (=3)
=17y —y — —162)°
2 Y’ 1+1—-c*—1
V(1) 8. — —c°—
Yo )+y |
:8y2
9. 1+ 145x+x7
-—1+7al°(—1)+661 = x> +5x+2
= —d —
. y+y—+6+3y 10. —4c-c-49c-c
=5y+6 = —36¢
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